
Level 17 Test answers 

1. Write in figures: Three hundred and fifty-two 
thousand and eight    352,008 
 

2. 400,000 + 32,000 + 478 = 432,478 
 

3. Equal or not equal (= or ≠) Use BOMDAS 

      16 x (14 ÷ 7) = (14 ÷ 7) x 16 

 
4. 9 x (9 – 5) ÷ 6 = 3 + 3 

 
5. Use brackets to make the equation true.  

(8 – 6) x 3 = 6 
 

6.     482 
 – 354  
    128 

7. Find the difference between 1,051 and 5,036=3987 
     (Use the back of this sheet for working out.) 

 

8. List all the factors of 12, e.g. 1 x 12 = 12             (3 marks) 
1X12; 12x1; 2x6; 6x2; 3x4; 4x3 
 
 
 

 
9. Round 865 to the nearest hundred. 900 
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10. Multiplication:  194       
                                 X 5      = 975 
 

11. Count by tenths starting at 6.8. 

6.8, 6.9, 7.0; 7.1, 7.2, 7.3; 7.4; 7.5; 7.6; 7.7; 7.8; 7.9; 8 

 

12. In one year, a toy factory made 36,680 toy cars, 
7,000 toy dinosaurs and 25,279 dolls. How many toys 
did the factory make altogether? 68,959 
 
13. 46 ÷ 7 = 6 r 4 
 
14. Change 3⅔ to an improper fraction. 11 

                                                                                                                         3 

15. 4 x 10 + 6 x 1000 + 5 x 1 + 8 x 10,000 = 86045 

 
16.If 5 x 7 = 35    then     50 x 70 = 3500 
 
17. The area of a book that is 25 cm x 10 cm =  50 2cm. 
 
18. Write 0.34 as a percentage:          34     = 34% 
 
 

Score           /20 


